CLASS -5 ENGLISH sample paper

GRAMMAR
A. WRITE AN APPLICATION to THE PRINCIPAL FOR SICK
LEAVE. (10)
B. FILL IN THE BLANKS WITH POSSESSIVE
ADJECTIVES. (5)
a)--------- frock is green in colour

b)-----test start in two days.

c)--------- house has a beautiful garden

d)---- cricket bat is new .

e)--------- dog barked at the stranger.

Fill in the blanks with demonstrative adjectives. (5)
1)The driver of _ taxi was rude ?

2)----- picture is of the Red Fort’

3)------ mobile phones are theirs.

4)----trees have green leaves.

5)----- cat is rajat’s pet.

Fill in the blanks with the correct prepositions from the
brackets. (5)

1) Ilived __ Mumbai for ten years.(on/the/in)

2) Keep this bowl ___ the dining table.(in/on/the )

3) A loud noise woke me up --- night .(at/on/in )

4) They have been living here __ 2003..(since/at/for)

5) I like to go for a walk ---- breakfast.(before/on/in)
Write the adverbs from the help box in the correct
columns. (10)



almost quickly |extremely | everywhere

Later angrily | Down how

Cheerfully | Softly really Annually

bravely often Enough |frequently

Weekly accross | Fast somewhat

Adverbs of manners
Adverbs of place
Adverbs of time
Adverbs of frequency
Adverbs of degree

Fill in the blanks with conjuctions. (5)

1. Seema I went to school. (and/or)

2.Rasmalai are sweet, bitter gourd are bitter.

(or/but)

2. You can drink milk shake have orange.

3. My mother was very tired today,___ Father and I cooked
dinner.(so/or)

4. He could not attend the party yesterday, he was
unwell.(for/to)

English -II
Section-B (5)

Meaning



a) Capital
b) Yonder
¢) Clutches

d) Soiled
e) yielded
Match the following. (5)
1) The grain in the granary wait a minute
2) See eye to eye raining very hard
3) The sick and the aged were gobbled up

4)The crops waiting to be harvested  was eaten up
4) Raining cats and dogs

Tick(V) the correct option to complete each sentence. (2)
1)The light had to be shown
a)when the soldiers appeared
b) exactly at 1 0’ clock
c)watching aeroplanes
2)Marie set fire to her cottage because.
1)The fire would be a signal .
2) she wanted a better house.

Fill in the blanks with the antonym of the words given in
brackets. (3)

a)The children were playing so ( noiselessly) that their
mother told them to keep quiet.



b)Whether you win or lose the race is ( important).
c)The girl was---- (satisfied) with her marks in the examination.

Answer the following question (Attempt any five questions).
(20)

1)Why was the signal required?
2)Why does sambhaji feel that there is no way of escape?

3)What gives shivaji the confidence that he can beat the
mughals?

4)What did he dp with all the fish?
5)How was the crane finally outwitted by the crane?
6)What was the problem that the citizen of Hamelin had?

7)Who was the crane in reality?



